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SN FTASS A2 1t

B FASSMBEN(SYAYSL/5Y - 5&)
el ARSOAFAMS A5l 2 Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
O 10,800
EENTEES 18,000
301 dE8BAMZ 15,000 60,000 A45,000
10 SEAAHIEAZ 15,000 30,000 A 15,000
CFTACH S &I 2 & 15,000
S N= 4,489,000 3,100,700 1,388,300
= 2,080,000
== 2,409,000
SHIGHLEEI A 672,000 480,000 192,000
= 600,000
= 72,000
308 AXISHHMSOIHA 672,000 480,000 192,000
= 600,000
== 72,000
01 XXNHHBIAEZXZ 672,000 480,000 192,000
Osgd3dAHALE XA 672,000
= 600,000
< 72,000
AU H=sEEHA NS 200,000 118,000 82,000
= 100,000
== 100,000
403 XXM SA201H 200,000 118,000 82,000
= 100,000
= 100,000
02 ZJ/2SOCHSCHE ALY 200,000 118,000 82,000
OFE=H=sHZ I W=H XA 200,000
= 100,000
o= 100,000
ENR==es e Be: NN PS T =S 126,000 168,000 42,000
308 AXIEHXMSOIA 126,000 168,000 N42,000
01 XXHMBIAEXZ 126,000 168,000 A42,000
ONYSHHSBLADS 126,000
SUAIZSt DS K& 900,000 900,000 0
403 XXSHHSAH20|H 900,000 900,000 0




S FTASS AR

M FIAsS=MUMFA (sl L=/ - 5&)

=

el selolns (el &2
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
02 I/ ZSOICHEHCHE At I 900,000 900,000 0
OsglAr2 St s X & 900,000
dSNH=SEH2I XA 40,000 40,000 0
307 2IZ2t0IA 40,000 40,000 0
02 SltFaEx 40,000 40,000 0
OZ=2MAHAsSEH2I XA 40,000
s WEKAFX 25,000 12,700 12,300
201 eI 10,000 7,700 2,300
01 AtR2teltl 10,000 7,700 2,300
et~ 7,000
Os8iASnsig szl 7,000
==l 3,000
O=DRAZT T4 3,000
202 Oidl 15,000 5,000 10,000
01 =UWobl 15,000 5,000 10,000
O=sgusX3F=&0oY 15,000
SHCEOE M| Bt A=K & 450,000 0 450,000
403 ANXIESXHSA20IH 450,000 0 450,000
01 AXSHMR=LEx 450,000 0 450,000
OsYCE0E ™I Bt 2 =X & 450,000
sHES=SH=ZUHE XA 2,076,000 1,382,000 694,000
= 1,380,000
& 696,000
403 XXIEHMS K201 2,076,000 1,382,000 694,000
= 1,380,000
& 696,000
01 RASHI=EE 576,000 0 576,000
OHESIISZASIX 2 576,000
= 480,000
& 96,000
02 ZJ/2S0ICHSHCH& A I 1,500,000 1,382,000 118,000
Osds=sd2Us X 1,500,000
= 900,000




SN FTASS A2 1t

B FAS A MEN (SHHSSM/5Y - 5E)

el selolns LR
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

== 600,000

FTAWSAEdESEYE 4,120,000 3,282,400 837,600
= 2,425,000
& 1,695,000

ZASHAHAS (XE) 3,126,000 2,512,400 613,600
s 2,406,000
= 720,000

308 AtXIHHMSOI& 942,000 6,000 936,000
s 726,000
& 216,000

01 XXHHIBLEXZ 942,000 6,000 936,000
OZAZHAHY2ZAH| 6,000
s 6,000
OIS AHAI 936,000
s 720,000
= 216,000

403 XXIEHMSAH201& 2,184,000 2,506,400 A 322,400
s 1,680,000
= 504,000

01 XXSHHIA2EX 2,184,000 2,506,400 A 322,400
O SeAHASI 2,184,000
s 1,680,000
& 504,000

A2 AH2I(RE) 19,000 24,000 25,000
s 19,000

201 Letd| 7,000 8,000 A 1,000
= 7,000

01 At 2teld] 7,000 8,000 A 1,000
OJZ9SHABHMENZRUS 2,000
s 2,000
(29 EHAHALFIE 200 A 5,000
s 5,000

202 Oidl 12,000 12,000 0
s 12,000

01 =Wol 5,000 6,000 A 1,000
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SN FTASS A2 1t

BB SN2 AR (FTASS A

el Jl=3sl

o) (I1EH/I1E)

SN C(BH) - NRAY - HES Aro e 2
Jl=23&tl 38,000 0 38,000
201 Let3| 25,000 0 25,000
01 AtE2teldl 25,000 0 25,000
Oget=&Hl 10,000
OFTAI X2 R 21S 10,000
= &l 10,000
OFTAS S A FX 10,000
A& EHIS Xl 5,000
202 O4Hl 13,000 0 13,000
01 =Wobl 13,000 0 13,000
OFMEE=A0H 13,000
HRHS (FIASS AR (S 500,000 800,000 300,000
BHXE 500,000 800,000 A300,000
sHEXEI IS M 500,000 800,000 A300,000
702 JI2HEZ 500,000 800,000 A300,000
01 JISHEZ 500,000 800,000 A300,000
OsHEAEIZZLEEHIE 500,000




